Free Fall Lab

1. Use d = ½ g t 2 to predict the time for a golf ball to fall 2 meters. 
    Show math work here to predict the time for a golf ball to fall 2 meters (get “t” by itself). Circle the time 
    (seconds) that you calculate. 

2. Set up a test of your prediction (actually drop the ball and time it). Fill in the data table.

    Data Table (10 time trials in seconds for the golf ball to fall 2 meters)
	trial 1


	trial 2
	trial 3
	trial 4
	trial 5
	trial 6
	trial 7
	trial 8
	trial 9
	trial 10


    Find the average time to compare with the time you calculated under number 1.

    Average time:

3. Use the height of 1.5 meters and write an experiment to determine “g” in this classroom. Is your answer
    close (+ / – 2 m/s2) to – 9.8 m/s2?  Explain why or why not. 
    Show math work here to get “g” by itself.  

    Data Table (10 time trials in seconds for the golf ball to fall 1.5 meters)
	trial 1


	trial 2
	trial 3
	trial 4
	trial 5
	trial 6
	trial 7
	trial 8
	trial 9
	trial 10


    Average time:

4. Take this average time and plug it into the equation used to determine “g” found under number 3. 
    Show your work and circle your calculation for “g”.  
